HOME

DECORATORS
COLLECTION

Use and Care Guide
Vanity Combo

ltem # 1003 431 364
Model #PPLNKDCG18

TOOLS REQUIRED

=) T

Hammer Safety goggles  Phillips screwdriver Power drill

\\ L

Measuring tape

Caulk/sealant

Wall hardware

Installation

HARDWARE INCLUDED
AA - Knob x 1 BB - Screw x 1

1 PREPARING FOR INSTALLATION

NOTE: Before installation, make sure all parts
are present. Compare parts with the Hardware

Included list. If any part is missing or damaged,
do not attempt to install the product.

o Determine the desired mounting location,
and mark the wall where the unit will be
installed.

NOTE: For secure installation, the unit must
be mounted to at least one wall stud.

2 POSITIONING THE CABINET

o Move the cabinet into place, and use wood
shims to level the cabinet against the wall.

3 INSTALLING THE CABINET

o For wall stud installation, insert #12 x 3 in. screws
with washers into the stud locations (not included).

o For drywall installation, drill holes at the appropriate
locations and insert toggle bolts with washers
(not included).

o For concrete wall installation, drill 1/4 in. holes at the
appropriate locations and insert #12 wall anchors,
followed by #12 x 3 in. screws (not included).

W

4 INSTALLING THE VANITY TOP

IMPORTANT: Do not use plumber’s putty.

NOTE: The faucet, drain, and supply lines are not included. Install these
parts to the vanity top according to the manufacturer’s instructions.

o Apply silicone caulk/sealant (not included) to all four corners of the cabinet.

Place the vanity top onto the cabinet.

O

o Position the top so that it has an equal amount of overhang on each side and

use a level to ensure the vanity top surface is level.

o Apply silicone onto the seam between the edge of the vanity top and the wall,

smooth the bead, and allow to cure before use.

NOTE: Matching side and back splashes available, sold separately.
To purchase, visit your local Home Depot store or go to homedepot.com.

A
5 INSTALLING THE HARDWARE e -
o Attach the knob (AA) to the cabinet with the provided screw (BB). ﬂ e M
HOMEDEPOQT.COM

Please contact 1-888-774-8062 for further assistance.



Troubleshooting

Problem

Possible Cause

Solution

The doors do not align or
the space is too big or too
tight between the doors.

The hinges are misaligned.

Hold the door while loosening
screws. Align the doors properly,
and re-tighten the screws.

Safety Information

Please read and understand this entire manual before attempting to assemble, operate or install the product.

Care and Cleaning

o Use a water-dampened cloth to clean the cabinet. Avoid using abrasive cleaners.
o Use a mild liquid soap and a soft cloth to clean your vanity top. Avoid using any harsh, abrasive cleaners or mineral spirits.

HOMEDEPOQT.COM
Please contact 1-888-774-8062 for further assistance.

u180612



Guia de uso y cuidado
Combo de tocador

HOME

DECORATORS
COLLECTION

NuUm. de articulo 1003 431 364
Num. de modelo PPLNKDCG18D

HERRAMIENTAS REQUERIDAS

=) T ®
. Gafas de Destornillador
Martillo seguridad Phillips Taladro
<] [ ]

7 e R

Cinta métrica  Herraje de pared Masilla/sellador

Instalacion

HERRAJE INCLUIDO
AA - Perilla x 4 BB - Tornillo x 1
Nivel

1 PREPARACION PARA LA INSTALACION

NOTA: Antes de comenzar a instalar, aseglrese
de que todas las partes estén presentes. Compare

ﬁ las partes con la lista del Herraje Incluido. Si hace
falta alguna parte o se encuentra dafiada, no
intente instalar el producto.

o Determine la ubicacion deseada del montaje
y marque la pared donde se instalara la
unidad.

W\

NOTA: Para una instalacion segura, la unidad
debe montarse en al menos un montante de pared.

2 COLOCACION DEL GABINETE

o Mueva el gabinete a su lugar y use cuiias de
madera para nivelar el gabinete contra la pared.

3 COMO INSTALAR EL GABINETE

o Parainstalacion en montante de pared, inserte tornillos
#12 x 3 pulg. con arandelas en las ubicaciones de los
montantes (no incluido).

o Parainstalacion en pared seca, perfore agujeros en las
ubicaciones apropiadas e inserte pernos acodados con
arandelas (no incluido).

o Parainstalacion en pared de concreto, perfore agujeros de
1/4 pulg. en las ubicaciones apropiadas e inserte anclas
de pared #12, y luego tornillos #12 x 3 pulg (no incluido).

W

4 INSTALACION DE LA CUBIERTA DEL TOCADOR

IMPORTANTE: No use masilla de fontanero.

NOTA: El grifo, desagiie y lineas de suministro no estan incluidos. Instale estas
piezas en la cubierta del tocador de acuerdo a las instrucciones del fabricante.

o Aplique masilla/sellador de silicona (no incluida) en las cuatro esquinas del gabinete.

Coloque la cubierta del tocador sobre el gabinete.

O

o Coloque la cubierta de modo que tenga una cantidad igual de saliente en cada lado y
use un nivel para asegurase de que la superficie de la cubierta del tocador esté a nivel.
o Aplique silicona sobre la union entre el borde de la cubierta del tocador y la pared,

alise el cordon y deje que cure antes del uso.

NOTA: Las salpicaduras se venden por separado.
Visite su Home Depot local o homedepot.com para comprar.

, A
5 INSTALACION DE LAS MANIJAS - -
o Instale la perilla (AA) en el gabinete con el tornillo (BB) proporcionados. ﬂ - M
HOMEDEPOQT.COM

Para obtener asistencia, péngase en contacto llamando al 1-888-774-8062.



Resolucion de fallas

Problema

Posible causa

Solucién |

Las puertas no se alinean o el espacio
es demasiado grande o esta demasiado
apretado entre las puertas.

Las bisagras estan
desalineadas.

Arriba — Abajo

tenga | rta mientras afloja |
Sostenga la puerta mientras afloja los 5 Adentro— Auera

tornillos. Alinee las puertas adecuadamente

y apriete de nuevo los tornillos. Izquierda — Derecha

Informacion de seguridad

Por favor, lea y comprenda este manual completo antes de intentar ensamblar, operar o instalar el producto.

Cuidado y limpieza

o Use un paio humedecido con agua para limpiar el gabinete. Evite usar limpiadores abrasivos.
o Use un jabon liquido suave y un pafio suave para limpiar la cubierta de su tocador. Evite usar limpiadores asperos, abrasivos o alcohol mineral.

HOMEDEPOQT.COM
Para obtener asistencia, péngase en contacto llamando al 1-888-774-8062.

u180612



